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General Instructions:
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The question paper comprises Four Sections - A, B, C and D. There are 10 questions in the

question paper. All questions are compulsory.
Section A - From questions 1 to 5 are MCQs of 1 mark each.

Section B - Question no. 6 and 7 are Very Short Answer Type Questions, carrying 2 marks each.

Answer to each question should not exceed 40 words.

Section C - Question no. 8 and 9 are Short Answer Type Questions, carrying 3 marks each.

Answer to each question should not exceed 60 words.

Section D - Question no. 10 is the Long Answer Type Question, carrying 5 marks. The answer

should not exceed 120 words.

SECTION A
MULTIPLE CHOICE QUESTIONS (1x5=5)

Match the following:

A B

Respect the ancient culture Thomas Macaulay

Rabindranath Tagore

a
b. Learningin natural environment
C

Critical of English education William Jones

PlwINE

d. Promotion of English education Mahatma Gandhi

Choose the correct option:

A. a-1, b-2, c-3, d-4 B. a-3, b-4, c-1, d-2
C.a-2,b-3,c-1,d-2 D. a-3, b-2, c-4, d-1
Identify the crop with the help of the following information.
A. It is the staple diet of the tropical and sub-tropical regions.
B. It needs high temperature, high humidity and rainfall.

C. It grows best in alluvial clayey soil, which can retain water.
A. Wheat B. Cotton

C. Sugarcane D. Rice

Complete the analogy with respect to High Courts of the given Indian States-

Guwahati : Mizoram :: Amravati : ?
A. Nagaland B. Andhra Pradesh
C. Telangana D. Arunachal Pradesh

In the question given below, there are two statements marked as Assertion (A) and Reason (R).

Read the statements and choose the correct option:

1

Assertion (A): In the earlier system of education children from poor peasant families had been

able to go to pathshaalas.

Reason (R): No regular time table and no printing books were used at that time.



10.

Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Ais true but R is false.

D. Aiis false but R is true.

Ramesh is a farmer. He is following viticulture, he is engaged in the commercial production
of which of the following:

A. Grapes. B. Silk worms.
C. Fish. D. Flowers.
SECTION B

VERY SHORT ANSWER QUESTIONS (2X2=4)
Name and explain any two physical factors influencing agriculture.
The role of judiciary provides justice in case of PIL. Justify with two reasons.

SECTION C
SHORT ANSWER QUESTIONS (3X2=6)
Name any two major fiber crops and the climatic conditions required for their growth.
OR
“The work that the judiciary does can be divided into three categories”. Justify.
Mention any three practical benefits of western education mentioned by Charles Wood in
Wood’s Despatch.

SECTION D
LONG ANSWER QUESTION (5X1=5)

Name the two different branches of the legal system. Explain any one of them with the help of

an example. 5
OR

State any five views of Tagore regarding schooling system.
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